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QUESTION 1
Which set of steps should be used to stop the cluster in Nutanix operations?

A. 1. Shut down Nutanix CVMs and Guest VMs. 2. Log on to a running controller VM in the cluster with SSH. 3. Stop the
Nutanix cluster.

B. 1. Shut down Nutanix controller VMs. 2. Log on to a running controller VM in the cluster with SSH. 3. Stop the
Nutanix cluster.

C. 1. Shut down all Guest VMs. 2. Log on to a running controller VM in the cluster with SSH. 3. Stop the Nutanix
cluster.

D. 1. Log on to a running Controller VM in the cluster with SSH. 2. Shut down all other Controller VMs. 3.Stop the
Nutanix clusters.

Correct Answer: C

QUESTION 2

An administrator needs to convert an existing node to be a Compute Only node. Which two steps should the
administrator take? (Choose two.)

A. Update the license file

B. Enable CO mode using aCLI

C. Image the node as CO using Foundation

D. Add the node to the cluster using Prism Element

Correct Answer: BC

QUESTION 3

An administrator encounters an error in Prism. After searching through the Nutanix product documentation and
knowledge Base the administrator decides to engage Nutanix Support for further assistance.

Which three items will help Nutanix Support to triage and resolve this error most efficiently? (Choose Three)
A. Cluster Name

B. Licensing Information

C. NCC output

D. Log Bundle
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E. Detailed Description

Correct Answer: CDE

QUESTION 4

SSH access can be completely locked down by disabling remote login and completing which other step?
A. Deleting all self-signed keys

B. Replacing all CA keys

C. Replacing all keys

D. Deleting all keys

Correct Answer: D

QUESTION 5

An administrator deploys two VMs running a mail server application on a Nutanix cluster. The memory and CPU usage
of these VMs must be tracked over time. How should the administrator monitor these metrics?

A. Create an entity chart for each VM, including CPU usage and memory usage.

B. Create a metric chart for CPU usage and memory usage, including both VMs.

C. Create an entity chart containing both VMs, including hypervisor CPU ready %and memory usage.
D. Monitor the VM statistics page for each VM, exporting the required metrics to a CSV file.

Correct Answer: B
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